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—. SDK H94E AR

1.1 SDK jar H&,

/ﬁﬁﬂﬁ_tﬁﬂ ] compile files|
XA jar A B S T IRATAY B E O e R AR, B T A T L WIF

. USB iER:. DAKIRNTWIFTA I Ha242 1 pREL . X 042 1ERTE
ZPLPrinterHelper ix/~2k+,
1.2 Infafdi i ZPLPrinterHelper

XN E R BIAES, 1 ZPLPrinterHelper.getZPL(mContext)
PRSI . A TS HAREURT DAY FH 28 R E0H 15 2 pR A



—. EEAX

21 BT %R

ZPLPrinterHelper mZPL=ZPLPrinterHelper.getZPL(mContext)
mZPL.PortOpen(portSetting)

ZH
mContext: [N CH4:.
portSetting: ”Bluetooth,”+MAC. (MAC: %7 -#ihl)
UAEIE
0: J4EMI.
-1 BRI
W o
public static boolean PortClose()
{515
mZPL.PorClose()
UAEIE
true: Wr/ts.
false: K72k,
BT R
Bliblé static boolean TsOpana()

HE:
BAR I I FHEBORES, MW P ARAS o B i R ) 4.
5

ZPL PrinterHelper.IsOpened()



& |1
true: WA ERE.
false: Wi RIER:

2.2 WIF| &£

8 WIFI:
public static int PortOpen(String portSetting)

{515
ZPLPrinterHelper mZPL=ZPLPrinterHelper.getZPL(mContext)
mZPL.PortOpen(“WiFi,”+IP+”,”+PortNumber)

\PFTEIHLAY IP Hbk .
PortNumber: igld. 2kiA: 9100
UAEIE
0: HHENIN.
-1 JEREERIL.
W WiFi:
public static boolean PortClose()
{35
mZPL.PorClose()
UAEIE
true: Wit iz,
false: WiH2kIg.

WiFi 2 & ER:



puLlic static boolean IsOpened()
{55
ZPLPrinterHelper.IsOpened()
UAEIE
true: CiEEE,
false: RiZE#z.
2.3 USB ##

%R USB:

i3 ]
public static int PortOpen(UsbDevice usbdevice) 1

f51%:
ZPLPrinterHelper mZPL=ZPLPrinterHelper.getZPL(mContext)
mZPL.PortOpen(usbdevice)

usbdevice: UsbDevice [{j%4
AEE

0: TR,

-1 BRI

WrH USB:

Eublic static boolean PortClose()
515

mZPL.PorClose()

ALIE



true: Wi AT
false: WrH-2RIE,

USB B ER:

puLlic static boolean IsOpened()
51

mZPL.IsOpened()

Ak

true: TiE#EE.

false: Riff.



. fTEES

3.1 &I
PR
int start();
SEACIE
KT 0. IEH, TR,
fBil5:
mZPL.start();

mZPL.printText(“0”,”0”,5,”N”,3,"TEXT");

mZPL.end();

3.2 LB AR
PR int setXY(String x,String y);
B
X: AR,
Y: AR,
AR [1]:
KT 0: 1B, BHNFHF.



3.3 G
int end();
&[]
KT 0: IEH, BFHE,
515
mZPL.start();
mZPL.printText(“0”,”70”,5,”"N”,3,”TEXT");
mZPL.end();
3.4 FBITKIEL
R
int FD(String a)
A: ICA
AR [
KT 0. 1%, BUFRE,
5%
mZPL.start();
mZPL.setXY(“0”,”0”);
mZPL.FD(“TEXT”);
mZPL.FS();

mZPL.end();



3.5 FRERIEL
PRAL:
int FS();
UAEIE

KT 0. 1IEH, BUFE,

515
mZPL.start();
mZPL.setXY(“0”,”0”);
mZPL.FD(“TEXT”);
mZPL.FS();

mZPL.end();
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3.6 T IS
int PW(String a);
A: i (indots)
&[]
KT 0: IEH, BNFRHE,
515
mZPL.start();
mZPL.PW(*100”)
mZPL.setXY(“0”,”0”);
mZPL.FD(“TEXT”);
mZPL.FS();

mZPL.end();
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3.7 4T By [l FIRY ¢ Jr =
int FW(String rotate,String justification)
rotate: FJEIJ ), HUELNT:

N = normal

R = rotated 90 degrees
I = inverted 180 degrees
B = bottom-up 270 degrees, read from bottom up

Justification: X H 7=, BUELTF:

0

left justification

1 right justification

2

auto justification (script dependent)
Ak

KF0: 1%, HNFEE,
15

mZPL.start();

mZPL.FW(“N”,”0”)

mZPL.setXY(“0”,”0”);

mZPL.FD(“TEXT”);

mZPL.FS();

mZPL.end();
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3.8 fTHE%

int printLine(String w,String h,String t,String c,String r);
ZHL

w: HZAMTERE.  (1~32000 Hif &)

H: BHZHmE.  (1~32000 #fr )

T: ZAMBERE.  (1~32000 L7 A%)

C: ZKMPIf:

B=black; (¥Ztik: B)

W=white;
R: [AMAAYIVE (0~8)
Ak
KF0: 1%, BNFEE,
5
mZPL.start();

mZPL.setXY(“0”,”0”);
mZPL.printLine(“1007,72”,72”,”B”,”0”)//4TE1 100 55 %%, 2 A=Y

T2k
mZPL.end();

13



3.9 FTHIR
PRAL:
int printCircle(String d,String t,String c)
24
d: BEERE (3~4095) .
t: OAEEEE (1~4095) .
C. ZrPi.
B=black; (#ki\: B)

W=white;
&[]

KT 0: IEH, BNFRHE,
515

mZPL.start();

mZPL.setXY(“0”,”0”);
mZPL.printCircle(“100”,72”,”B”)

mZPL.end();

14



3.10 FTHIRER
T8
int printSlashLine(String w,String h,String t,String ¢,String o)
24
FHERYTE (3~32000)
FHEATEE (3~32000)
Ak TLE (1~32000) .
5 & INuR
B=black;  (#Kik: B)

W=white;
O: AT [1]:
R (or /) = right-leaning diagonal

L (or\) = left-leaning diagonal

(BA: R)
Ak
KT 0: IBH, BN
5
mZPL.start();

mZPL.setXY(“0”,”0”);
mZPL.printSlashLine(“100”,7100”,72”,”B”,”R”)

mZPL.end();

15



3.11 RERERAE
AL
int LH(String x,String y)
28
X: B HYREAR AR,
Y: JE R E M AEAR,
Ak
KF0: 1%, BNFE,
515
gt
3.12 Bl Z S
B
int LS(String a)

2R

a: fifs i (-9999~9999) TR ts,

A [1]:

KT 0: B, BN,
5

mZPL.start();

mZPL.LS(“20”)
mZPL prlntTeXt(“1 Oon ’ 511 00”,5,”N” ’3, ”TEXT”);

mZPL.end();

16
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BA3WEXAE (7] HIIHAT)
PRAX
int TB(String a,String b,String c)
24
a: 3CFI5IA:
N = normal

R

rotate 90 degrees clockwise

I

invert 180 degrees

B = read from bottom up-270 degrees
b: SCAHERTEL.
C: CAMER L.

UAEIE
KF0: 1%, BNFEE,
55
mZPL.start();

mZPL.TB(*N”,”300”,"300”)
mZPL.printText(*100”,”100”,5,"N",3," TEXT");

mZPL.end();
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3.14 455
R
int printQRcode(String x,String y,String orientation,String
magnification,String size,String data)
x: REARTR.
y: MAEFR.
orientation: Jyjn] (N) .
magnification: =
1= E A,
2=,
AN (2)
size : R~ (1~10) .
data: " 4ERS iy PN 2

&[]

KT 0. 1IEH, BUFRE,
515

mZPL.start();

mZPL.printData("Cl14\r\n");
mZPL.printQRcode(“10”,710”,”N”,”2”,”5” ”abc123”),

mZPL.end();
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3.15 &4
AL
int  printBarcode(String  x,String  y,int
orientation,String height,String f,String data)
SR
x: REARTR.
y: MAEFR.
Type: ZcH3AL:
0=39
1=EAN-8
2=UPC-E
3=93
4=128
5=EAN-13
orientation: J5[q):
N = normal

R

rotated 90 degrees (clockwise)

I

inverted 180 degrees

B = read from bottom up, 270 degrees
Height: 2958 (1-32000)
F: AR RGI BUAY) -

Y = yes

19
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iz 1]

KF0: 1%, HNFE,
515

mZPL.start();

mZPL.printBarcode(“10”,710”,70”,”N”,”100”,”Y”,”123456789”);

mZPL.end();

3.16 ITHIE I

EEie
printBitmap(String x,String y,Bitmap bmp)
x: EIRH) X ARTR,
y: ELRAYY ABER,
Bmp: KAXIA,

AR [
KT 0. 1%, B,

5%
mZPL.start();
mZPL.printBitmap(“10”,”10”,bitmap);

mZPL.end();

20



317 KR
By e
int WriteData(byte[] bData)

28

bData: 2 A& 4F] EINLI R,

&[]

KT 0: IEH, BNFRHE,
515

mZPL.WriteData(byt)

3.18 A R %K
GRS
byte[] ReadData(int outTime)

2R

outTime: B[R] (BANLED) .

AR
LR 5
{515
mZPL.ReadData(2)

21



3.19 KW
B
int selfTest()

AR [

KT 0. 1IEH, BUFE,

5

mZPL.selfTest()
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3.20 FTHIXCA
HE: ITHR SO R EEmY, S 00T
int printText(String x,String y,int type,String orientation,int
size,String data)
x: REARTR.
y: INARAR,
type: FE (0~6: HICIERL, 7: ) .
orientation: 5.
N = normal
R = rotate 90 degrees clockwise
I = invert 180 degrees
B = read from bottom up-270 degrees
size: TR/,
1: 10px.
2: 20px.
3: 30px.
4: 40px.
5: 50px,
6: 60px,
data: SUARHUE.
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&[]
KF 0 T, TSR
515
mZPL.start();
mZPL.printData("ACI14\A\n")//+ 7 B F SCHsF 5 ZE A GX 4]
mZPL.printText(“0”,70”,5,”"N”,3,”TEXT”);

mZPL.end();
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3.21 T I E I T]
int PQ(String q,String p,String r,String o)
2R
SRR 6
PR 5 A B VT Hi iR
rEEAN PSS R B AR
oY) ) B B
Y:D)J]
N7 5
A& 1]
KT 0: 1EH, HNFHF.
5
mZPL.start();
mZPL.printData("ACI14\A\n")//4] B 4 SC B S B A X 4]
mZPL.printText(“0”,”0”,5,”N”,3,”TEXT”);
mZPL.PQ(1,1,1,Y);/4TEl—iK 58] 7]

mZPL.end();
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3.22 FT I
PR
int setPrinterModel(String model)
2R
model:
T = #ihk

P= 3 (F 5300 FATH)

A& [1]:

KT 0: B, BN,
5

mZPL.start();

mZPL.printData("ACI14\r\n")//¥7 B vp SCHFFE 20 A GX 4]
mZPL.printText(“0”,70”,5,”N”,3,”TEXT");
mZPL.setPrinterModel(“P”);// 445 i | 254 =

mZPL.end();
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3.23 5 A RFID
B
int writeRFID(int address, int memory,byte[] data)
address: jEipibhl, YEHl: KT 0. (EPC KXHuhbw/ii 2 JFif)
memory: 5 A, (o-m@x, 1 2 EPC K, 3 £ User IX)

data: F5H AREIE. (REIX, EPC R 12 1545, User Fitit 128)

S5 il

A RN, 2 SRR 0. BAMI.
1T

mZPL.start();

mZPL.writeRFID(0,1,"Test RFID".getBytes|());

mZPL.end();
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3.24 {8 RFID
byte[] readRFID(int address,int length,int memory)
address: jEipibhl, YEHl: KT 0. (EPC KXHuhbw/ii 2 JFif)
length: EEEAYK . (R8IX, EPC Rt 12 45, User At 128)
memory: 5 A, (o=f##K, 1 £ EPC K, 2 & TID X 3 & User X)
AR [1]
IR e, SRR TEEIURIL,
5%
mZPL.start();
mZPL.writeRFID(2,1,"# 3 ".getBytes("GB2312"));
mZPL.readRFID(2, 4, 1);
mZPL.end();
byte[] bytes = mZPL.ReadData(3);
if (bytes!=null&&bytes.length>0){
String hexStr = new String(bytes);
byte[] hexByte = UtilityTooth.hexToByte(hexStr);
Toast.makeText(thisCon,newString(hexByte,"GB2312"),

Toast.LENGTH_SHORT).show();

}

28



3.25 {ZB SN
B
String getPrinterSN()
b
Ak

SERIAL NEMBER:SN =,

55

mZPL.getPrinterSN();
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